@ -1

® 3.14

@0

— | D~




@® 0.1232323---, 123 @ 1.351351---, 135
® 2.573573---, 57 @ 3.461461---, 4614
@10.462462'-- , 462

~&B

@ 23

@ 351
® 573
@ 461
® 462




e % FA 1 o] ke S0 2 L)

@ 1.1 © 1.0i ® 1.01 ® 1.01

PO-0-@>© QO0-0-0-0
®@-9-0-0 ®0-0-0-®o
®e-e-0-0

~&B

@ 1.1111---

© 1.0111---

© 1.010101 - - -

@ 1.01

L@ ©® - 0O - @92




oju
RS

—

<
1_,_A|O
Nfo
-
ol
Mm_
ol

® 2.8

@ 0.9

® 4.09

@ 21

@0.9

® 2.8




&AL x = 11257 & B42 Yerd o, 7

@ 10x-x @ 100x — x

C@)lOOOOx —10x ® 10000x — 100x

"t ALA 27

® 1000x — 10x

~&B

100002=11257,257257--+
-) 10z= 11,257257--

99902=11246
11246 5623
T 9990 4995




<

660

-

ul

660 ©]tt.

104208
330 660

312
990

‘ 0.315




2 WESE AAS 9] & oA Y 2 UL

e, a-bel ke Fokofe.

8

1 x 3
— - < =
99 5
5 5x 27
— < < —
4 45 45

whA 5 < bx < 27

2 -
1<x<? olRE o] REAS WAL AL, 2,3, 4, 5




8.

ohg x o e kg4
23x+35=09x+5.7

> E:
23

e o

= &°fzh

B

23x+32=09x+5.7
21 29 52
9t =ty
21x + 29 = 9x + 52
23

12x =23 SoX=—
X x D




S 8 AR UEE RS W, S (o b)) AE

T-stoi et
(oa beEAAL0], 1<a<10,1<bhb<10)

;i oA Bro] 21} 5o]9]o] 27t A HmE A
XHXb

(a,b) ©] A4-2 7519 2370l




® 4991

& 8452 et 0.2758 o]tk a 9] §H27?

@ 4992 ©® 4993 @ 4994 @4995

0.2758 =

2756 1378 1378

9990 _ 4995  a

©a=4995




B g s e o,
Fatelet,

=

> 3E: 3

A= ol 100 WA o] e

36
111
100

=0.324324--- = 0.324

+3=233---1 0B &

A ozl 100 HA] &A= 3 o]},




T2 Yeyey, RRE BG4S 25 HopA

12. 7|oFES 4 & SBLS
o] 0.6 °] H|9LT, vk BRE BE Hop o 0.32 7 H9lek.
ol u, 7]okis 4 & Fofolet,
> =

29
xer- 27
> ®E: 2
.. 26
o3l = 2,
99
32-3 29

= 1039 ="2F —
03 50 5
fe)

LEREEE PR
(M2 2D 29
@EEEm) g AT

}:11_
RLER




13. Adgnofl thated nl = 1x2x 3 x -+ x n o] FoJetr}, 2 x 4 x
6x8x---x1000 = x°0 x y A o, x +y o] = F5toft

> E

> =g 502

B !
2X4x6x8x---x1000
=(2x1)x(2x2)x(2x3)x(2%x4)x---x(2x500)
=250 % (1x2x3x4x---x500)
= 2590 % 500!
v x =2, y=>500
Sx+y =502




24 x = 1;0 (n-2 120 mIRFS] AA) A, <=

o
o
4 Qe x 2] ghel AMSE?

120 = 2° x 3% 5
n ©] 3 &} visolH _0

119+3=39---2

o O =] A
= Rl Less




15. 034-01= 2 3.05 x 0.45 =

> &

AL

D 1.2 ® 13 ® 14 @ 15 ™)1.6

B

03i-0j=22"3_1_951 10
90 79 90 90
275 45 25
3.05 % 0.45 = 90 99 13 ..o b=18
a 30 15
o= — = 1.
b 18 9 6




